5-12. The XYZ Company plans to visit potential cus-

tomers until a substantial sale is made. Each sales

presentation costs $1000. It costs $4000 to travel to

the next customer and set up a new presentation.

(a) What is the expected cost of making a sale if the
probability of making a sale after any presentation
is 0.10?

(b) If the expected profit from each sale is $15,000,
should the trips be undertaken?

(c) If the budget for advertising is only $100,000,
what is the probability that this sum will be spent

~without getting an order?
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